ELERS EE@E (MRNFR UKL (TR FMEIHN (BESR | Ttk Ve et I U 2l e 5
107361162090006 |E3ZE 3Tk 050101 |XZ&% =B BERE | ATt 228 (87 81.5
107361162090020 |RIE®  [3Fbx 050103 [[NESXFZ =k TZEEE |8 it 183 856  [73.3
107361162090025 [{REAEN  |3STEFBE 050103 |NESMNFF Euk] EERE | ATtk 224 |85 79.83
107361162090040 |EF L=l 050104 |FRESLELNERE E=k EEEE (LTIt 233 93.13 (85.4
107361162090037 |XIME3E  [3FkR 050104 |HFEGHENEZF e=k:] EERE | Tty 240  [93.13 |86.56
107361162090035 |XUZRAF  [S0&FBR 050104 |FhESLEL B e =kl EBEEE | TEmTL 234 89.38 |83.69
107361162090087 |#7¥E (X 050105 |HEHRIEF ES=C3 LEEE | REImtR 252 [93.75 |88.88
107361162090078 |#HERER  |S03Bx 050105 |HEGHRS E=Ld TERE ST 217 |90.88 [81.6
107361162090090 |EIE |3kt 050105 |FEEANEF e=k] HEEE (Tt 218  [92.25 |82.46
107361162090061 |fVEZ  |S0FBR 050105 |FEHRE 2RB% EBEE | BT 210 92.38 [81.19
107361162090085 |EH MEbr 050105  |FEGEANE £BH BEEE ('t 234  [91.63 |84.81
107361162090069 |XIZBHE  |S2%B% 050105 |FhEGENE E=kal EBEE (TEmT 233 81.38 |79.52
107361162090055 |EFi XEF 050105 |FhEHAIE E=k TEEE | TEmT 225 91.88 |83.44
107361162090044 |E5E¥ BT 050105 |FREGHANE E=ka ZEEE (LTIt 220 92.63 [82.98
107361162090046 |falfsR  |SFPe 050105 |FREGHAIE =k TZEBEE | TEmT 225 91.63 [83.31
107361162090076 | X 050105 |FFEGHANE e =k TEEE | TEmitR 224 |93.5  |84.08
107361162090101 |=f&fE (X bx 050106 |HEIHMARE e =l T@EEE | TEmitk 223|856  |79.97
107361162091129  |fEtE  |FASESLF B 060200  [FESE Ex{=h] RiEERZ |FFHERSE |0 90.8  |90.8
107361162091137 |EEE BT 060200 |FESE =l BRigE%Z | LT 0 89 89
107361162091110 |Z=fi ST 060200 |FESE £BH FRIgERZ (LT 0 942  |94.2
107361162091070 |&F RSB 060200 |HESE =B BigE% | TEBTL 0 91.8  |91.8
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107361162091069 |iF#F R 060200 |HES 2B RIgEZ |LETTL 0 932  [93.2
107361162091111 |SiE Ak Lt a=ald 060200 |FES e =k RiEEZ | BTt 0 92.2 92.2
107361162091068 |TBAR  |HSEIHLEFERE 060200 |FESE =k RigEZ (LT 0 932  [93.2
107361162090132 |Z=84E  (HEZKR 040101 |HBZFRE E=k:] HEEE | ATt 228  |82.8  |79.4
107361162090274  |{ajB¥ HEF 040101 |HBZFRE 2HH EBRE | ATtk 231  |68.4  |72.7
107361162090203 |#B== |HBEFk 040102 |IREEEHFIC E=k] BEEE | AT 226 |82.29 |78.81
107361162090249 |&fE HEFh 040102 |IRESHFIC e=k:] HEEE (Tt 212 91.83 [81.25
107361162090180 |i7#E HEFR 040102 |IRESHFIC e=k:] ZEEE BTtk 201  |79.14 |73.07
107361162090178  |#7MR HEF 040102 [FES#HEFIL =H%! HiEEE (Tt 237  |89.14 |84.07
107361162090210 |&% HEFR 040102 |IREEEHFIC e=k] HEEE | ATt 225  |89.14 |82.07
107361162090165 |F38 HEF 040102 [REESHFIL e=k] HEEE ('t 210 (9229 |81.14
107361162090196 |CiE HEZM 040102 [IREE5HFiC =B ZEEE |5tk 188 90.14 |76.4
107361162090194 |Skhk |HEFKR 040102 |IREESHFIC e=k] BERE | ZEmit 232 (8857 [82.95
107361162090223 |5 HEF 040102 |IREESHFC e=k] BERE | ATt 229 89.71 |83.02
107361162090260 |B&BT HEZM 040102 [RESHFIE e= k] BERE | ATtk 223 91 82.67
107361162090280 |tHE |HEFH 040104 |tkBHBEZE e =k TEEE | TEmitR 217  |82.4  |77.37
107361162090301 (78  |[HEZK 040106 |SEHEZF =[l#! EBRE | RTmitkl 213|848  |77.9
107361162090296 |Z=HB  |HBEFk 040106 |ESZHEZ e =k EEEE | TEmTL 230 79.8 78.23
107361162090316 |#7&& HEF 040171 |RIEHBEZ E=E] EEEE |[HEEBASGIRIEIN|209 87.2 78.43
107361162090387 (R HEFM 045171 |FRIFESHF =B EBEE |(TEmT 228 83.67 [79.83
107361162090362 [3KEHT  (HEFER 045171 |FRIREESHF e=k] BERE | ATtk 216  (86.67 |79.33
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107361162090377 |3KBRZR  |HBEFk 045171 |ZFEESHE 2R HiEEE | ATt 221 85.67 [79.67
107361162090378  |#7%55 HEFR 045171 |ERIFESHF =HH! EERE (TR 232 82.17 [79.75
107361162090369 |EiilE |HBEFk 045171 |[ERIFESHF e=L BiEEE | ATt 221 88.83 |81.25
107361162090339 |EFIEF |HEZb: 045171 |ZIRIESHZE ES=L] EEEE (LTIt 241 78 79.17
107361162090326 |#MATT  |HEFE: 045171 |[ERIREEHF ES=L BBEE (LTIt 230 80.5 78.58
107361162090321 |8F3018 | HBFkE 045171 [FRIRESHZ E=L] EEEE | TEmT 230 85.33 |81
107361162090323  |EHEHTD HEF: 045171 |FRIFEEHRF E=E] EEEE | L't 249 82.83 [82.92
107361162090340 |=ZhE  |[#BE%kR 045171 | FKIRFESHE <R ZBEE | TEIT 233 83.33 [80.5
107361162090349 |Z=EFE |HBEFkK 045171 |FIRRESHF ES=L0l HERE | ATt 217 85.71 |79.02
107361162090373 [ffiEE  |HBEFE 045171 | FKIRFESHE e=k] EBEE | BT 236 83.71 [81.19
107361162090342 |&BRE  |HBEFk 045171 |ZRIRIESHE E=L HEEE | ATt 213 87.29 |79.14
107361162090384 |ZET |HBEFE 045171 | FIRFESHE eS=k] HEEE | ATt 229 82.71 |79.52
107361162090375 |3t |HEFk 045171 |ZREESHE 2R HiEEE | ATt 230 85.43 |81.05
107361162090351  |{RiE HEFR 045171 |[FIRFESHE 2R EBEE (LTIt 224 88.57 |81.62
107361162090355 |&EEE |HBEFkk 045171 |ZRIREESHEF E=L BiEEE | ATt 214 85 78.17
107361162090359 |FE52MM, HEFR 045171 |ERIFESHF ES=k2 EEBE (TR 244 82.43 |81.88
107361162090386 [3KSiF  |HEFER 045171 |[ERIREEHF ES=L BBEE (LTIt 226 78.5 76.92
107361162090319 |EiiE |HBEFE 045171 [FRRESHZ E=L EEEE | TEmTL 218 87.29 |[79.98
107361162090407  |3K%t HEFk 045172 |FERESHE ES=L BERE | ATt 224 |86 80.33
107361162090401 |FESk  |HBEF: 045172 | ZERESHBE ES=ka TEEE | TETHY 242 85.57 [83.12
107361162090406 [XUX%E  |HBEFkT 045172 |FERESHE =H% HERE | ATt 222 87.71 |80.86
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107361162090417 |=E BB 045172 |FERESHE 2HB# E@ERE |TETTHR 239 85.29 [82.48
107361162090424 |{IEZE HEFR 045172 |ZERESHE =HH! EERE (TR 227 86.14  (80.9
107361162090482 |kl |HEFER 045173 |HBMSSERE eS= k] BiEEE | ATt 224 78.75 |[76.71
107361162090546 |#XXNI  |HBEFE 045173 |[HBERNSSERE ES=L] HEEE | ATt 242 85.75 |83.21
107361162090489 &= HEFk 045173 |HBMSSER ES=k BiEEE | ATt 239 89 84.33
107361162091061  |#XfF HEFR 045173 |HBMESEHE 8% TEiEE | TEWmH 237 82.5 80.75
107361162090526 [3K¥E#fE (B 045173 | HBWNSSEE =R ZEEE (LTIt 247 |79.25 |80.79
107361162090518  |3KEzLE HEFR 045173 |[HERSSEE Ex{=k2 ZiERE | LTtk 233 87 82.33
107361162090532 3Kk HEFh 045173 | HBNSSERE ES=L0l HERE | ATt 222 795  |76.75
107361162090520  |3K{HB HEFR 045173 |HBEMNSSERE e =kl EBEE | BT 241 79.25 |79.79
107361162090540 [3KXIE  |HEFE: 045173 | HBMSSER E=L HEEE | ATt 221 80.25 |76.96
107361162090560 4718 HEFR 045173 |HBENSSER =R HEEE | ATt 218 83.5 78.08
107361162090443 [##EAZE  |HEFDr 045173 |HBMSSERE 2B HiEEE | ATt 228 82.75 |79.38
107361162090528 (&=H HEFR 045173 |HERSSEHE £HH! EERE (TR 246 83 82.5
107361162090512 |FE4E |HBFk 045173 (HMBEMSSERE E=L BiEEE | ATt 214 84.25 |77.79
107361162090545 |FIix HEZM 045173 |HBEMESERE E=E EEBE (TR 231 80.75 |78.88
107361162090503 |FEBE |HBEFk 045173 |HBWMSSER ES=k ZERE | TEmitkl 234  |85.25 |81.63
107361162090538 |E2 HEFR 045173 |HBMESEHE 8% TEEE | TEmtH 242 78.75 [79.71
107361162090464 |HT HEFk 045173 (HBWNSSEE £ R BERE | ATt 232 76.8  [77.07
107361162090531 |HRLALE (HBEF 045173 |[HENSESEE Ex{=k2 EBEE | TEmT 243 84.6 82.8
107361162090501 |B/N\E  |HEFE 045173 |HBENSSERE £ B HERE | ATt 228 83.6 |79.8
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107361162090437 |SHH& HEFR 045173 |(HBERNSSERE =Rl SBEE |(TEmT 219 80.2 76.6
107361162090441 |55 HEFR 045173 |HEMSSERE Ex=ka Ei@iaE | LTtk 223 80.6 77.47
107361162090517 |Z8BE |HBEFR 045173 |(HBERNSSERE =R BBEE (LTIt 237 81.25 [80.13
107361162090541  |fvEk HEFE 045173 |HMBENSSEE E=E EEEE (LTIt 221 82.5 78.08
107361162090522 |XUZ#E HEF 045173 |HEBEMSSERE E{=F EEEE | LTtk 253 77.25 [80.79
107361162090484 XI5 HEFE 045173 |HBENSSEE E=Ei EiEEE | LTtk 234 84.8 81.4
107361162090555 ([XISZE  |HBEFR 045173 |HBMSSERE E=k BIBEE | BTt 237 81.4  |80.2
107361162090472 |23 HEFE 045173 |[HMEMSSEE E=Eil ZiERE | LTtk 214 84.2 77.77
107361162090485 |Z=[iE  |HEFR 045173 |HEMSSER Ea=kdl ZBEE | TET 218 82.2 77.43
107361162090509 |25 HEFE 045173 |[HMEMSSEE E=kil EEiRE | TEtHk 228 85.2 80.6
107361162090527  |[{Kf& HEFE 045173 |HEMSSER =B ZBEE | TEmT 240 74.8 77.4
107361162090553 |EEGRk |HBEFk 045173 |[HMBEMSSEE =B EBEE | TEmT 217 80.8 76.57
107361162090537 |FFREEE BEF 045173 |HBEMSSEHE =kl EEEE | L't 231 78.4 7
107361162090600 (4Bt OB 040200 |(EZ 2B EERE (TR 219 88.2 80.6
107361162090574 |&XEE |OEZE 040200 [IMEBZ 2Bl EEEE |SREBRER 234 84.6 81.3
107361162090572 |=H DR 040200 [(MEZ E=L] ZEEE (LTIt 238 89.4 84.37
107361162090578 |EBE |LEHbR 040200 [MEZ E=E BBEE (LTIt 213 88.4 79.7
107361162090584 |FEigik  |[OIEFERR 040200 [(MEZ E=E EiERE | LTtk 228 87.6 81.8
107361162090590 |Z=1 DR R 040200 |(NBZ E=E] SEBEEE | REWT 234 90.2 84.1
107361162090605 |Zizim  |[OIEZFERR 045172 |R¥4EREEHE <B4l T@iEE | TEWmTH 229 77.63 |76.98
107361162090647 |#H==  |[LEZE 045172 |RERKESHE Ex=L] ZBEE | REmT 219 88.25 [80.63
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107361162090641 |iEX# OISR 045172 |[ZERESHBE 2HB# E@ERE |TETTHR 242 91.5 86.08
107361162090645 &8k  |OEZER 045172 |[FERESHE =kl EERE (TR 230 88.63 [82.65
107361162090623 |Gk  |[OIEFER 045172 |[R4RRSHE ES=ks TEEE | TEmT 218 90.38 [81.52
107361162090626 |#X3ZHk  |OEERR 045172 |ZERESHE ES=E EERE | TEWTHR 241 87 83.67
107361162090423 |3KZE  [LEFR 045172 |FERESHE ES=k BiEEE | ATt 237 86 82.5
107361162090611 [#AfiEsE OISR 045172 |[R4ERESHE ES=kal TERE | TEWT 242 87.13 [83.9
107361162090644 [#7ESEE  |[OEEERR 045172 |RAERESHE Ea=k LERE | LTI 233 86.25 |81.96
107361162090638 [#MVEHE  |[LEZ 045172 | ZERESHBE ES=ka TEEE | TETTH 240 93.63 [86.81
107361162090609 |E£48 |DIEFk 045172 |FERESHE ES=L0l HERE | ATt 234 |86.75 |82.38
107361162090627  |Z=4k DR R 045172 |[RERESHE 284 TEEE | TEWmTH 227 88.5 82.08
107361162090630 |==t8iE  |MEFr 045172 |ZFHERESHE E=L HEEE | ATt 223 88.25 [81.29
107361162090619 [|FHEe  |[OIEEHE: 045172 |[RERESHE B4 TERE | TEWmTH 242 90.5 85.58
107361162090614 |EiEE  |[OIEFER 045172 |[ZERKRSHBE 2HBH E@ERE |TETTHR 205 86.25 |77.29
107361162090631 |eaiHfE  [OIEFERR 045172 |ZERESHE 2B EERE | TEmTH 224 89.13 [81.9
107361162090608 |(#B{E OISR 045172 |[F4RRSHE ES=ks EEEE (TEWTR 237 76.63 |77.81
107361162090643 |&iflik  |[OIRFRR 045172 |ZERESHE E=E EERE |TERTR 241 89.75 [85.04
107361162090624 [FEREY  |[DEFER 045172 |[R4RESHE e =L TEEE | TEm 229 87.5 81.92
107361162090617 |FRImiR  |(OIESERR 045172 |[Z4ERESHE ES=ka TERE | TEWT 233 89.13 [83.4
107361162090723  |3KSH SRBENFR 030501 |SRBAENERNFE ES=L BERE |SRERER 210 87.4  |78.7
107361162090728 |&2&ME |SRBEENFR 030501 |SrRBENERRE E=L SZEEE | AT 201 924  |79.7
107361162090658 |Z/\E  |BREENZFR 030501 |SrEENERRE ES=L0l HERE | ATt 218 91.2  |81.93
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107361162090781 |&X& ORBENFR 030505 |BAEBUAHE 2B SBEE |(TEmT 226 90.8 83.07
107361162090788 |#7RA SREENFER 030505 |BAEBUAHE Ex=ka Ei@iaE | LTtk 192 95 79.5
107361162090831 |(BEX |ZREENEFE 030505 |RBUEBLAHE 2Bl EEEE |SREBRER 188 87.6 75.13
107361162090782 |Fi OB ENF 030505 |BAEBGAHE E=E EERE [SREBBRER 195 82.4 73.7
107361162090834 [iE; OB ENFER 030505 |BUEBLAHE E=E] EEBE (LT 193 95.2 79.77
107361162090752 |RE OB ENF 030505 |BAEBGEHE E=Ei EERE [SREBBER 194 85 74.83
107361162090771 |[BEKE |BREBENFR 030505 |BAEBUAHE E=E] EBEEE |SRERER 231 89.8 83.4
107361162090857 |EX=EM HNENEF R 050172 |(EBESSEIERE E{=F ZEnE (LTt 245 85.8 83.73
107361162090937 |RELR  |EARFER 130400 |EARZ Ex{=ka ZEBE (L't 242 91.8 86.233
107361162090875 |EE&E ENFRR 130400 |ZEAZE =k Z@EiaE (L't 223 92 83.167
107361162090960 [XUFL  |SEARZEE: 130400 |EARZFE 2B ZBEE | TEmT 225 91.2 83.1
107361162090963 [3KIFF] |HFSHITFR 070101 |ErtEes =R EBEE | TEmT 221 91 82.33
107361162090967 |#GRE |BFS5HITFR 070101 |EAtEs 2B BBEE (AT 227 9454 |85.1
107361162090970 |EEN  |HFEEFHITHE: 070101 |Eft#= 2B EERE (TR 222 94.24 (84.12
107361162090965 |7 HFEFITFR 070101 |Ert#s 2Bl BBEE (LTI 224 93.1 83.88
107361162090972 |SZ4#Rl  |#FESHIHERR 070101 |EftE E=E ZiERE |LEmTHR 218 93.14 [82.9
107361162090968  [fa]3 HFEFITFR 070101 |Ert#es E=E BBEE (LTIt 226 94.92 |85.13
107361162090976 |F=RF  |HFSHITHE 070102 [itE#E <B4l T@iEE | TEmTH 231 94.12 |85.56
107361162090975 |Z=ZF HFEFRITFR 070102 |[itE#E <B4l LERE | Tt 192 94.12 [79.06
107361162090978  |5KARE HFERITFR 070103 |HiFiCSHIESIT E{=k ZEBE | TEmit 230 90.52 [83.59
107361162090980 |3k&& HFESHRITER 070104 |RIFR%E Ea=kdl EBEE | BT 227 93.92 |84.79
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107361162090984 [3K& HFEFHITF 070104  |RZFR%LE e=k] BERE | ATt 238 (943  |86.82
107361162090986 |EFE= |HEEFHITFER 070104 |RZFE%ZE £B8% TEEE | TEmiHR 194  |93.16 |78.91
107361162090987 (BXE (HFS5HITFR 070104  |RZFR%EF ES= k] BERE | ATtk 221 [93.68 |83.67
107361162090988 |Z=E HFEFHITFR 070104 |RzFE%E e =k TEiEE | TEmitR 238 93.94 [86.64
107361162090981  |{}45 HFESHITER 070104 |RZFE%LE ES=k TEEE | TEmtR 208 92.18 |80.76
107361162091142 (&R  |MIESEBEFIEFM (070201 |EiCYE E=E MEEE | RETUT 0 80.09 |80.09
107361162091083 |RfFE |MIESHEFIEFM (070203 ([RFS55FHE E=E] MEEE | AETT 0 84.45 184.45
107361162091093 | FE1FR YIESHEFIREFR (070203  |RFS5H5FHE e=k:] BiEE% | AEWIL 0 71.47  |71.47
107361162091143 [|sK5E  |VESHEFIEFKR (070203 (RFS5HFI7E 2B BRigEZ (LT 0 922  [92.2
107361162091085  [pAE#iH YIRSHEFIRESR (070203 (RFS5HFIE ES=L MBEE |FFHRERSTE 0 71.2 71.2
107361162091091 |Z=EE |MESHEFIEFR (070203 ([RFS5H5FHE 2B MHEE | T 0 69.6 69.6
107361162091108 [=FHS YIRSHEFIRESR (070203 |(RFS5HFIE =B RigEZ |LEWITL 0 78.58 |78.58
107361162091109 |tH#fE  |VESEBEFIEF (070203 |(RFSHFE eS=F BRiEEZ |TEWIK 0 76.89 |76.89
107361162091101  [fizHk YIRS FIREFME (070204 |FEEFHAIE =B RiEEZ | BTt 0 86.67 [86.67
107361162091105 |fREE |(VMESHEFIEF (070205 |HRSYE e{=p] BigE%Z (LTI 0 77.78 [77.78
107361162091072 |&E/NY  (¥EESEFIEFFE (070205 |BEERSYE E=k] BRigEZ (LTIt 0 93.15 |93.15
107361162091132 [XIEH  |[(LFHIF 070301 (FAHLE ES=E] MEIEE (T 0 90.8  |90.8
107361162091102 |{@@B8 [T FPE 070301  (FALF ES{=t] miEEE | LTItk 0 89 89
107361162091081 |EB T F B 070302 |DHfritE £ R &S (ZTEmt! 0 88.2  |88.2
107361162091107 (&% R TED 070302 |DHTitE Ex=E] MEEE | TETTL 0 87.4 87.4
107361162091136 [EXFEE  |WFEHIFER 070302 |HTiLE Ex=L] MEEE | AET 0 90.6 90.6
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107361162091130 [(&&F HE T ERR 070302 (Tt 2B MEEE | ATt 0 82.4 82.4
107361162091134 |5K&FE W TFRR 070302 |HfritE =R RiEEZ | BTt 0 88.4 88.4
107361162091076 |3K5e#E  [{LFILTFER 070302 | eS= k] RigEZ [FEHERSE |0 86.6  [86.6
107361162091084  (#INEE HHETFRR 070302 |HfritE ES=k2 MEEE | TEWITL 0 88.6 88.6
107361162091066 |H#E  |{LFILTE 070303 |BHLE ES=k EEE | RETTL 0 83.2  [83.2
107361162091096  |XI#fR< R TED 070303 [BHULE E=E MEEE | TETTL 0 87.4 87.4
107361162091063 |1/ WEHTH b 070303 |BHLE 2B S (ZEmt! 0 86.2  [86.2
107361162091073 | LS HEHLTFbr 070303 |BHULE e=k:] BiEE% | AEWIL 0 82 82
107361162091090 [FREMs  |HFEHIFD 070303 |BHLE Ex=E] MEEE | TETT 0 88.4 88.4
107361162091082 | K5E[N R T F R 070303 |BHlLE ES=L MEEE | BT 0 90 90
107361162091077  [5E5% HEHTIERR 070303 |BHLE 2B MHEE | T 0 86 86
107361162091133 [FE R TFB 070304  (¥IER{LE =R mEEE | FTEmIK 0 88.2  [88.2
107361162091103 |XUfEE  |[WFHIF 070304 |#E{LZF e{=f] BRigE%Z (LTI 0 90.6  |90.6
107361162091094  |FHIERZ WHE T FRR 070304  (¥JER{LE =B RiEEZ | BTt 0 85.4 85.4
107361162091106 |3KIFFE  ({LFILTFER 070305 |EoFHFESHE 2[4 EEE | AT 0 88.6  |88.6
107361162091141  |XIBXHE HHETFRR 070305 |EHFHFSIE E=E RiEEZ | TEWItL 0 89.8 89.8
107361162091104 |&IBE  |HWFMLITEDR 070305 |S9FHFESHE ES=k EEE | RETTL 0 85.8  |85.8
107361162091098 |EEiE2 WH TR 070305 |EHFHFSE E=E RiEEZ | ZEITL 0 88.8 88.8
107361162091080 |BRIEMS  |[{tFILTFER 070305 |&H5FHFSYIE 2B BRiFE%Z (LT 0 87 87
107361162091067  |3K{iifE HapRlFEE 071000 |%#% Ex=E] MEEE | TETTL 0 90.5 90.5
107361162091138 |XUEEMR  |EmRlFEF 071000 |44 2B BRigEZ (LT 0 85.83 [82.67




ELERS EE@E (MRNFR UKL (TR FMEIHN (BESR | Ttk Ve et I U 2l e 5
107361162091092 |XlI%EE  |EdmRlFEFEMR 071000 |4 2B BRigE%Z (LTI 0 87.83 |89.5
107361162091095 |14k RIS 071000 |&#1% eS=k] BRigERZ (LTI 0 87.83 |89.83
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